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- Single frame pipeline in pyFAI: standard azimuthal integration
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- Single frame pipeline in pyFAI: generic data integration
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- Single frame pipeline in pyFAI: generic data integration

1D integration
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- pyFAl geometry + two rotations

Parameters:
* 3 distances in meters: dist, poni,, poni,

* 3 rotations in radians: rot., rot,, rot,
+ wavelength || energy

} PONI-file

From the sample's point of view,
looking towards the detector :
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- pyFAl geometry + two rotations

Parameters:
* 3 distances in meters: dist, poni,, poni,

* 3 rotations in radians: rot., rot,, rot,
+ wavelength || energy
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- pyFAl geometry: components of the q vector
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- pyFAl geometry: components of the q vector
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- pyFAl geometry: components of the g vector

data(pixx,pixy) — data(X(O), Q(nm_l)) — data <\/sz + qu, CIZ> = data(q;p, qoop)

qip = \/sz + qy° doop = 4z
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- pyFAl geometry: components of the q vector

data(pixx,pixy) — data(X(O), Q(nm_l)) — data <\/sz + qu, CIZ> = data(q;p, qoop)

qip = \/sz + qy° doop = 4z
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- pyFAl geometry: components of the q vector

data(pixx,pixy) - data(x(°), q(nm_l)) - data \/qxz + qy%,q, | = data(q;p, qoop)

qip = \/sz + qy° doop = 4z

2D regrouping
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- Grazinglincidence / Fiber integrate2d (caking)
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1) Instantiate the units

» from pyFALunits import get_unit_fiber

» (gip =get_unit_fiber(name=‘qip_nm~-1’, incident_angle=0.12, tilt_angle=0.0, sample_orientation=2)

» goop =get_unit_fiber(name=‘goop_nm~-1’, incident_angle=0.12, tilt_angle=0.0, sample_orientation=2)

2) Integrate using different units and a method without pixel splitting

» units = (qip,qoop)

» method = (“no”, “csr”, “cython”)

» res2d_gi = ai.integrate2d(data=data, npt_rad=1000, npt_azim=1000, unit=units, method=method)

3) Plot the results:
» from pyFAl.gui.jupyter import plot2d
» plot2d(res2d_qgi)
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- Grazinglincidence / Fiber integrate2d (caking)
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» goop =get_unit_fiber(name=‘goop_nm~-1’, incident_angle=0.12, tilt_angle=0.0, sample_orientation=2)

2) Integrate using different units and a method without pixel splitting

» units = (qip,qoop)
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2D regrouping

3) Plot the results:
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